Subject: Re: Array Subscripting Puzzle
Posted by James Kuyper on Fri, 17 May 2002 19:45:10 GMT

View Forum Message <> Reply to Message

dmarshall@ivory.trentu.ca wrote:

> This wouldn't work anyways will it since indices references a which is a
> large (800x600x3) linear array whereas r,g,b are only (800x600). (?)

>> | have the indices of something | want to draw on
>> the image. Say they are the indices of the outlines
>> of some continents. For example, like this:

>>

>>  window, xsize=800, ysize=600

>> map_set, /Cylindrical, position=[0,0,1,1]

>> map_continents, ffill

>> a=tvrd()

'a’ was created by calling tvrd(), not tvrd(/TRUE). Therefore, it will
be (800x600).
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